28-843 RIP FENCE - 18” GUIDE RAILS BS-2D

A‘A D E l_TA 28-845 RIP FENCE - 32” GUIDE RAILS Part No 426-02-655-0007
A Pentair Company FOR 14” BAND SAWS Dated 4-20-94

~

FOR USE WITH EARLY MODELS ONLY

Page 1/BS-2D/CAJ




mmummhwww—*—*lcz):n
m
a

i N " Yo N
W 0 N OO O~ W N = O

20
21
22
23
24

25
26

REPLACEMENT PARTS

PART NUMBER

422-01-055-0002
422-01-055-0004
901-09-011-2451
422-01-055-0001
422-01-055-0003
422-01-327-0017
422-01-368-0001
928-01-021-4132
902-01-120-1034
426-02-110-0004
426-02-043-0001
901-01-060-0606
904-01-010-1604
422-01-027-0003
901-02-010-0558
951-01-010-7802
422-02-084-0004
931-02-990-3614
901-04-160-9414
904-01-031-2925
1086402
422-01-327-0006
928-01-021-4132
422-01-327-0007
931-02-010-3622
902-01-120-1034
422-01-110-0004

426-02-304-0001
961-01-010-7457

DESCRIPTION

REAR RAIL (FOR 28-843 ONLY)

REAR RAIL (FOR 28-845 ONLY)

SCREW

FRONT RAIL (FOR 28-843 ONLY)

FRONT RAIL (FOR 28-845 ONLY)

CLAMP HOOK ASSY (Current Models Only)
KNOB ASSY

COIL SPRING

1/4-20 HEX NUT

POST (FOR USE WITH ALUMINUM FENCE, Current Models Only))
RIP FENCE - ALUMINUM (Current Models Only) ‘
5/16-18 X 5/8” HEX HD SCREW

5/16" FLAT WASHER

CLAMP PLATE

#8-32 x 1/4” RD HD SCREW

POINTER

FRONT CLAMP BLOCK

HAND KNOB ASSY

1/4-28 X 3/8” HEX SOC SET SCREW

FLAT WASHER

HAND KNOB ASSY

REAR CLAMP ASSY (Early Models Only), INCL:

COIL SPRING

CLAMP HOOK ASSY

HAND KNOB
1/4-20 HEX NUT

HEX SUPPORT BUTTON (FOR USE WITH STEEL FENCE,
Early Models Only)

RIP FENCE - STEEL (Early Models Only)
PLUG (Early Models Only)

NOT SHOWN ASSEMBLED

STANDARD SAFETY EQUIPMENT

In order to promote tool safety, Delta International Machinery Corp. strictly enforces the policy of repairing or replacing any damaged
or missing standard safety equipment on machines presented to Delta Authorized Service Center for service/repairs. Any product
which is presented to a Delta Authorized Service Center for repairs which contains missing or damaged standard safety equipment
will have that equipment repaired or replaced and the customer will be charged for any such service/repairs. Customers can avoid
such charges only if the missing safety component is supplied to the service center at the time of repair.

N

This parts list is provided to aid in obtaining service parts. Copies of the instruction and maintenance literature can be obtained through the Delta Technical Publications Depart-

ment or through your local service outlet.

Page 2/BS-2D/CAJ

Printed in U.S.A.



